


MATHEMATICS - IB

STRAIGHT LINES
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1) Find the value of x, if the slope of the line joining (2, 5), (X, 3) is 2.
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2) Find the equation of the line passing through the point (3, -2) and
having inclination 135° @)
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3) Find the equation of the line passing through the points
(at%’ Zatl)’ (at%’ 2at2)
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4) The area of the triangle formed by the coordinate axes and the line
4x -3y =121is
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5) The area of the triangle formed by the coordinate axes and the line
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6) If the product of the intercepts made by the straight line

X tan a + y sec a = 1(0 < a < m/2) on the coordinate axes is equal to sin a,
’#
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7) Find the equation of the line passing through the point (3, -4) and
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8) Transform the equation §+ % =1 into normal from where a> 0 and b > N d("'['w'

0. If the perpendicular distance of the straight line from the origin is p, ><‘cojﬁ<‘f75‘\““ P
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9) Transform the following equations into slope intercept form,

intercepts form and normal formx+y+2=0
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10) If the straight lines x + p =0,y +2=0and 3x + 2y + 5 = 0 are F% a;l’f‘%vﬂ') o

concurrent, find the value of p. Gy X +h It 3 =0

509" (N frve YA P:O

- y+2r=0 A~
- J“‘{C/V\}‘

}. Cenn C

yh ALYk ol Concutber a, b <

I O'L "LCL- c O

0
-0 ‘f'f 3), =0 c‘? 1930}

s 53

0] e
3 2 [ (574)+P(0-3
) -3pP=0 )

= 3P=1



e —
11) A straight line with slope 1 passes through Q(-3, 5) and meets the
straight line x + y -6 = 0 at P. Find the length PQ. A
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